[bookmark: _GoBack]LO - To be able to read Roman numerals 1 to 20.

Roman numerals 1- 20

I = 1 		V = 5		 X = 10

0 – 10
For example… 3 + 4 = 7
Roman numeral   7 = 5 + 2 = VII
Now try them the other way round!

11.   II + I = 
12.   VI + II = 
13.   III + IIII =
14.  VIII – II =
15. VII + III = 
16.  I + VII =
17.  VIIII – III =
18. V + V = 

1.   2 + 3
2.   4 +1
3.   5 + 2
4.   3 + 3
5.   6 + 1
6.   1 + 7
7.   3 + 6
8.   4 + 4
9.   7 - 3
10.   6 – 2



0 – 15
For example… 7 + 4 = 11
Roman numeral   11 = 10 + 1 = XI

1.   6 + 3 =Now try them the other way round!

11.   II + V =
12.   X + V =
13.   III + VII =
14.  VIIII – III =
15.  XI + II =
16.  VII + V =
17.  XIII – VI = 
18. III + III + VI = 

2.   2 + 8 =
3.   4 + 7 =
4.   3 + 9 =
5.   15 – 8 =
6.   13 – 6 =
7.   9 + 4 =
8.   12 + 3 =
9.   8 + 1 =
10. 14 – 9 = 



I = 1			V = 5		 X = 10

0 – 20Now try them the other way round!

11.   III + V =
12.   XI + II = 
13.   VI + XIII = 
14.   XI + VI =
15.   VII + III = 
16.   XIII – VI = 
17.   III + VI + X = 
18.   XVI – VIIII = 
19.   XVIII – VIIII =
20.   II + VII + V + VI = 

For example… 7 + 9 = 16
Roman numeral   16 = 10 + 6 = XVI

1.   4 + 5 =
2.   9 + 3 =
3.   10 + 7 =
4.   4 + 16 =
5.   3 + 14 =
6.   7 + 8 =
7.   17 – 5 =
8.   19 – 12 =
9.   3 + 8 + 4 = 
10. 20 – 2 – 5 = 
